29 EAR ZRELEEETI2BH EFFHOEREVEROARGER
BEFOD=HAPERRDARLR

£ B4l 7E BF il
B4 2RE |seca|cmasy|zesu|onsy|=gex =Y 4 2RE |seca|tmsy|zasn|ensy|=gex
FEIX|BHTIZE| 7 5 5 4 [1.25 FEEE| mE 42 15 15 12 | 1.25
HRE & 10 35 35 13 | 2.69 FEIX| HBW 23 3 3 2 | 150
A Fop i 4 11 11 4 | 275 BX 25 3 3 1 | 3.00
BK O BREFE|] 2 3 3 3 | 1.00 fatE & 68 | 34 | 33 32 | 1.03
E3kE Fopi 36 11 11 10 | 1.10 MIIE | BEES | 12 5 5 5 | 1.00
BRFER| & 14 29 27 17 | 1.59 B 22 3 3 3 | 1.00
T | EEHEM| 1 0 0 0 — 171E L& 29 1 1 1 |1.00
prEmEE| 1 1 1 1 | 1.00 REM gl 14 3 3 2 | 150
ERESRR| 1 0 0 0 — EER & 13 2 2 2 | 1.00
Z2h =Pl 10 4 4 4 |1.00 AL =Pl 30 1 1 1 | 1.00
AERBE| 8 2 2 2 |1.00 BkFEE| mE 30 1 1 1 | 1.00
BkFEE| A 6 2 2 2 | 1.00 [ B R 33 1 1 1 | 1.00
A+nB| E& 12 2 2 2 | 1.00 HE L& 22 3 3 0 | o000
AR | #HEFE | 68 9 9 8 | 1.13 g =R 30 4 4 3 |133
it Eop] 6 4 4 4 11.00 I Eop] 34 0 0 0 —
fElLRE | I% 4 1 1 1 |1.00 fFELREe | =& 36 1 1 1 | 1.00
[EES 3 0 0 0 — AEER| & 32 8 8 3 | 267
aE 54 3 3 2 | 150 EES 35 0 0 0 —
— gg I B wr 1584 | 1822% | 530 | 88 | 87 | 70 |0.80
i =R 33 1 1 1 | 1.00
E= 1 0 0 0 -
EETE | HREFEHR| 28 6 5 5 | 1.00
iR & 24 11 11 8 | 138
BELE|BEAEY| 16 5 5 3 | 1.67 B 1E Fl
weeEsrz| 28 0 0 0 - _T%"fs*a% 2REZ |ssexa|sEeu|znsn|onsy|sass
18%% | 26225 | 307 | 147 | 144 | 04 05| EEREL T8 | 165 ] 26 | 24 | 24 | 1.00

£BH-ERFFHOZRELRVEEHN=HREDFELBE

N7 J Y S |
2 H49 ( 3\
= SRHEEAS
| == J N/

(N
Jo
b
i




